>
A & 0l & A & F Al
20198 & =0il&h LBHSIH MSAIEAS A
M= AE A A
CHSAE 22
sgesyae (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MSAEAS A 6,340,691 5,778,543 562,148
=2 90,000
< 42,000
Al 6,208,691
H=EAE S2d2el 5,876,828 5,333,831 542,997
= 90,000
< 42,000
Al 5,744,828
SessEzel 122,452 711,512 A 589,060
Sg2sygd2e 20,225 17,465 2,760
201 Let24E] 14,465 12,665 1,800
02 2324l 14,465 12,665 1,800
O1 3322 ¢ HA 12,000
D& -Gt AMES 1,000,000& »12& 12,000
O2 ¢ =l 2,465
>DERsE ¢al 2,465
O JIAZHI (MO 2 38)
1,297 3«50 4 Al 2H+95 2,465
202 o4dl 5,760 4,800 960
01 = LH o4 1l 5,760 4,800 960
OM=AE 222 A8 WUl 480,000& *12& 5,760
SE2SEANERANES 102,227 94,047 8,180
201 et 30,627 29,847 780
01 At 22l 15,702 14,922 780
O1 get=&Hl 14,838
D&M Mol S = (1002 )
3,300 «100&«128 3,960
DESM MAIISE (500 )
1,690& x100& 128 2,028
DA M U HASF(EA 150n)
300,000& =122 3,600
DAgAY otdzte] HElE 425,000 « 122 5,100
>s2I HI18E ==2 150,000& * 12/ 150
o6 g1tz 864
DZ2d U L= (&OILE)
600,000& *13] 600
DESI ZUE 22,0003 x1CH+128 264
02 =24l 14,925 14,925 0
O3 A& ZHl s Xl 14,925
DHAAS 503 *5,499m" 53| 1,375
DIIHFBI 24 (MCIZ2ED1012 148)
4,000,000& %14 4,000
DYWLt H2H 24 100,000& = 10CH 1,000




SN HSALAY L
M HMESAE 222
ool SeesIue CEREY
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DM S, ASEH |RAES
2,000,000& » 14! 2,000
PADYE = M+X83 Ea
9,0002 *100E 900
DEBE YSSATY FALS
3,000,000& =14l 3,000
D& o™ X2 SA(1H)
2,650,000 » 14! 2,650
206 M= Hl 36,600 36,600 0
01 M= 4l 36,600 36,600 0
O=gHl (st XNE&Cl) 55,000 *260 1 14,300
O%dl s 220,000& =103l 2,200
Og=ol &dMHE s 30,000 2601 7,800
OctelE HelE 50,000& x2S *203] 2,000
OXOTZE HHE A 29,000& *50& 1,450
os7z¢(=Z=28) 450,000& * 1= 450
OBAE B UL (SXE) 20,000 *200m 4,000
O&J|, 4,22 JIH HEHl S
4,400,000 *14! 4.400
401 Al HIZ 201 Y] 35,000 27,600 7,400
01 A& HI 35,000 27,600 7,400
TERSY NEs FNES(A2,01H,8D]
g) 20,000,000& =14 20,000
Ozsg=2sd 22 2z
15,000, 000& 14! 15,000
XM =2t atel 333,603 274,381 59,222
AHSseY Y2l 152,968 193,746 £ 40,778
201 Let24d] 152,968 179,206 A 26,238
01 At 22/l 6,711 6,711 0
O1 eet=2Hl 6,183
> 28t FH| 50,000& x12& 600
DM BEHMSSE(100£ )
3,300 100& 128 3,960
D MYl B (504 )
1,690 x80& «12& 1,623
o6 Itz 528
DESI QU2 22,000 20 122 528
02 =224l 146,257 172,495 A 26,238
O1 3322 € HA 116,730
PUESRLRES 1,900, 000& *13| 1,900
>HEIIRS 9,000,000& x12& 108,000
DaSt=SAER 550,000& »12& 6,600
DOAHHAMUBE S 50,000& x13] 50
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2N HSALAYL
HE: HMSAE =g
SR E R

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&I, S, A8 J1H M=Hl S
3,000,000& =14 3,000
O3=xJ| 0Is2H 46,0003 x 184 828
O32X2J Z2lZ2H 35,0002 344 1,190
OFFUE(ZIE) 45,0003 *20H 90
401 Al HIZ 2018 125,400 25,400 100,000
01 A& HI 125,400 25,400 100,000
OXYMEs2 NEE E-SAH(HAE,INH, B
g) 20,000,000 » 14l 20,000
OXH=s2 SHHM SAt
100,000, 000& 14! 100,000
OXsdN=sa A== FII184
5,400,000 » 14! 5,400
=z &2 276,117 163, 151 112,966
yZZAL2Y 2 47,879 46,879 1,000
201 L2l 47,879 46,879 1,000
01 At 22l 4,748 3,148 1,600
O1 g2t 2,788
DExeld &Y 250,000 *2CH 13| 500
DAUENEZN =5 = JUEH ===
40,000,000& *2.97/100 1,188
DOtHE M (S0, ML S)
400,000& »23] 800
PESAZ 150, 000& »24! 300
Ob5 =&l 960
DOt - 2R 8,000& x121%103| x12& 960
06 dxt= 1,000
>Hld, =2 gtz 1,000, 000& 14 1,000
02 3322l 43,131 43,731 A 600
o1 3322 ¢ AA 42,300
> &4l 45,0003 »2CH 123 1,080
DEIRS 3,400,000& x12& 40,800
>Xot=0lE2E2E= 30,000& 122 360
D et=AYotM E 3| 60,000& *13] 60
O2 A=l 831
DOl HZHI (X212 38)
1,207 3 «4CH 4 Al 2H+40 831
YZZALRN 2L 228,238 116,272 111,966
201 Let24d] 24,858 26,432 21,574
01 At 22/ 14,404 16,104 A 1,700
O1 get=2Hl 12,804
DatEX L HEES(SEA 6HD)
150,000& = 12& 1,800




A MEAEAML L
g HMSAME 2822

Helr a2l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DAY EEMSE(1004 )
3,300 *x50& 123 1,980
DAY BEEHSE (500 )
1,690& +70& «12& 1,420
DXJHE I8 erd e S (+=H Al
500kW) 407,000& 123 4,884
DAagtddl et 2l A= 210,000 128 2,520
D2 HIEA =2 100, 000& *2CH 200
O6 g1tz 1,600
D22 Ul AXNZ (X0 &)
800, 000& »23] 1,600
02 2324l 10,454 10,328 126
O3 A& & Hl s Xt 10,454
DA HA 18& 31,0004/ =13l 558
DM HA 11,000& x10E »23l 220
DIIHEH B2 (S8 ORI 2 65)
1,000, 000& 14 1,000
DY) |FXE 5 100,000& = 13CH 1,300
DN S, AStEEH RAES
3,000,000 » 14l 3,000
>&s2I| otd Zels9(2i)
4,376,000 =14 4,376
206 M= Hl 16,340 16,340 0
01 =8l 16,340 16,340 0
O&J|, sS4, 22 JIH HZHl S
4,500,000& =14 4,500
O=sgtlz 55,0003 502 2,750
OXM =M 19,000& 60= 1,140
octelg HelE 60,000 x4 S 62 1,440
O&OTZE HHE A 29,000& 40 1,160
O=78Y 2 SIUE 400,00021 2% 800
OHUAUWE 350,000 13X 4,550
401 AIEHIZL 2] 163,000 53,500 109,500
01 A& HI 163,000 53,500 109,500
O3=2=2& A SRNE=(HE,JIAH, A
g) 20,000,000& =14 20,000
OFFHUAZE BEE & ZHAIE WH
40,000,000& * 14| 40,000
O=FHUAHE o2l &dl &XI3At
100,000, 000 * 14 100,000
Odz=2=2% 2= FJI&8d
3,000,000& x14! 3,000
405 Xt&tE SHI 24,040 20,000 4,040
01 AL EFH S 24,040 20,000 4,040




SH: HSAEAY
HH: AL S%“EFBI
el g2
S HB B (SH) - NRAMY - BAS O 4t o8 il
Os&xg &0l 20,000,000 *1CH 20,000
OamZI|I(HZ2, 224 &) 1,000, 000& *1LH 1,000
OEd YA 1,200, 000& ~1CH 1,200
OHMl & Tt 1,500, 000& *1CH 1,500
Og A& ZE| 170, 000& ~2LH 340
=0HSdHESH 1,693,074
= 90,000
= 42,000
Al 1,561,074
=0 HEH 22| 826,730
201 LBt 809,440
01 At 22l bl 42,460
O1 2Bt=&H| 33,180
DEANSI+EH| 450,000 x12& 5,400
DABICEH 23 4y NUELLE
55,000,000& *2.8/100+12& 18,480
DIOgEH & 300,000& 6= 1,800
DOIECtUHE HME(FE, 3ANE S)
7,000,000 14! 7,000
>PS3US 500,000& *14] 500
O2 Il =4| 400
DIl H A 22X 100, 000& #2021 x23| 400
O3 S| 2,880
DOt - 522 8,000& x321x103| x12& 2,880
O4 Xtz 6,000
2D 2z 25,000 =100 = 12& 3,000
>HIO Stz 25,000& «10CH x12& 3,000
02 3524t 766,980
O1 2222 ¥ HMA 605,700
DA AL JIEZHE LBNGR2
10, OOO-O\: 18/ =128 120
>DEIR=S 18,000,000& ~12& 216,000
DAMSIEERS 32,000,000& x12& 384,000
PHNsSgeRg3 2,500,000& * 14! 2,500
DEZHN NS Al 170,000& x12& 2,040
DRAdYSs S 20,000& x12& 240
DRAECIHY AMEEZ 40,000& «12& 480
Det=2MaE )| =0l 835l 100, 000& * 14! 100
>er=2g 22| AFE 3l HI 120,000 & * 1Al 120
> Ao N S 5l | 100, 000 & * 1Al 100
02 A=t 161,280
DEHE 22X (T AIJEA)
840& x120m x5 A 2+ %320 161,280




A MEAEAML L
g HMSAME 2822

el ROIMSHESY (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
202 Od4dl 4,800 4,800 0
01 = LHA YI 4,800 4,800 0
O=CUNSHEHSY YR=&  400,000& 128 4,800
206 M= Hl 950 0 950
01 = tl 950 0 950
OE=xJI(=Z &) 150, 000& =504 750
O« 30| 50,0003 =4 CH 200
405 RHoHF S HI 11,540 13,900 A 2,360
01 AL EZFH S 11,540 13,900 A 2,360
OUEg&SEII 170,000 »2CH 340
OEAZE 2SIIF(StH2RALSHE) 11,200
>elAl THE A 1,800,000 *4CH 7,200
> AA THE A 2,000,000& =2CH 4,000
ZUNSHHAE R E S 566,344 522,000 44,344
201 Let24d] 490,094 460,950 29,144
01 At 22/l 51,754 49,954 1,800
O1 gt==2Hl 51,754
DIAVUMSHH HLAEZ(SEX 2 255)
2,900,000& x12& 34,800
DIUMSHEH KD SSH SF(100£ )
3,300 *100& 128 3,960
DIRLUMSHEH M SSH SF(504 )
1,690& x50& «12& 1,014
DAJtE ®MIlddl AR S| (=& & H[ 1,400
kw/gl A& D] 300kw) 4,000,000& =14 4,000
DAGAY HNMEH WEZ 540,0003+123 6,480
>&ZI| AN =22 150, 000& * 13| 150
DEFNAAEANE FINEE =2
350,000& x13] 350
DEAMUHAIDIN (L) BAx=2=2
250,000& *2CH 23] 1,000
02 2322l 438,340 410,996 27,344
O3 Al ZHlI KXl 438,340
DYAAS 440,000& 123 5,280
DAESIE FA 18&%120,0004 =13l 2,160
DM EA 11,0002 x200E 23| 4,400
DIQIGt=HMelANlE E4 L A e
300,000& =122 3,600
DRt HA L HEZ SAEBH(45
g) ,000,000& *2H 2~ 4,000
PEXIEH & SIEEZ ZHUA

6,600,000 14| 6,600




A MEAEAML L
g HMSAME 2822

Chel: RDINSHE S (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
CAoN 22840 2 4 ZO0A
1,000, 000& »2CH 2,000
PAEEYe ¥ SuwEI M2
6,000,000 » 14! 6,000
DB YESATY HALS
3,000,000& =14l 3,000
PESSIBRAANAY SNES
15,000, 000& 14! 15,000
D& E2ACAMAE SABH(2ED 2
1Z) 5,000,000& =14l 5,000
PES Y A2 RAES 8,000,000 x14! 8,000
DAY ANASHOAHALE FALES
5,000,000& » 14! 5,000
>PEXEH RAES 2,000,000 =34 2= 6,000
DEAIFAEHH SAES 300,000 153 4,500
PETE Y GSHHSY RNES
5,000,000& » 14! 5,000
DABMSHEH 2429 350,000,000 x14! 350,000
DS oA FAAIES (1)
2,800,000& »14! 2,800
206 M= Hl 34,450 34,450 0
01 =8l 34,450 34,450 0
OdEJI|, sS4, 2% J1H M=l S
5,000,000& » 14! 5,000
OFMUS (AW, HAK, 5T, &) L
P44 7] 50,000& 504 2,500
O=Z& A=A 1,500,000& »12& 18,000
OdllHEeHol I (=L . &2 A AP E)
45,000& 304 1,350
ORI (ALE, RF) 100,000 x20A E 2,000
O==g& ZEE & &0t 10, 000:& 2004 2,000
OMHIl & B3 30,0002 » 1204 3,600
401 Al BIZ 201 8] 41,800 26,600 15,200
01 A& HI 41,800 26,600 15,200
OANEE FXNE= (A, J1H,&8I )
20,000,000& » 14! 20,000
OZHsHH A== EIIEZ
6,800,000 » 14l 6,800
O=CUMSHE X=&2tE &
15,000, 000& 14! 15,000
FFI2CUMSHH A2 B2 300,000 0 300,000
= 90,000
< 42,000
Al 168,000
401 Al Bl 2B 300,000 0 300,000

H

90,000




A MEAEAML L
g HMSAME 2822

el ROIMSHESY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 42,000
Al 168,000
01 Al&H| 300,000 0 300,000
ORFZUMSHE AL B422Y
300,000,000 « 1Al 300,000
=2 90,000
= 42,000
Al 168,000
JIEFMI= Al & 22 62,750 180,510 A 117,760
JIEIHMESAIE2Y 2] 20,400 20,400 0
201 B9 20,400 20,400 0
02 2224 H| 20,400 20,400 0
O1 2222 2 HA 20,400
DEIRI(HSAS2 2 60HA)
1,700,000 x12& 20,400
JEIMESAER XN E S 42,350 40,110 2,240
201 LBt Y| 8,350 8,110 240
01 AP 22| d| 3,960 3,720 240
O1 btfx==2H| 3,960
DM A2 M- otd2e] &
2 (=X & H|l 63kW) 150,000& * 122 1,800
DU 2 ALY CHEEH S
180,000& 12& 2,160
02 E232%H| 4,390 4,390 0
O1 2222 2 HA 60
>et=2 Aot E | (A oHA 22| k)
60,000 «13] 60
O3 A& & HI KX I 4,330
DM S, ASIEH SAES
3,000,000 1Al 3,000
DASIEX FA(HASH) 182 «25,0004 450
DHEX EA(H2HS2)
11,0002 x40E= *23] 880
206 M = Hl 2,000 2,000 0
01 2l 2,000 2,000 0
OFII,S4, 48 I Ml S
2,000,000& =14l 2,000
401 AlEHIZL 201 Y| 32,000 30,000 2,000
01 Al&H| 32,000 30,000 2,000
OJIEHMENNMSAE ANE2 SNEBS(HE2,D]
H, ™D ) 30,000,000& = 14! 30,000
O=2=2%& A5 HIIELH 2,000,000& =14l 2,000
2322 857,660 417,640 440,020




2M: H
PSS e
el

SAEASE
SANE 2g2e

Sz

S33 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HESJAANE2F 2L 140,580 100,520 40,060
201 £B-2d| 140,580 98,820 41,760
01 At 22l 1,800 0 1,800
O1 get==&Hl 1,800
DA MEE L FLASS(E2H2s0
& 3EA S) 150,000& = 12& 1,800
02 2324l 138,780 98,820 39,960
O1 22322 % HA 138,780
D& -t AES(BESH2s01E2 50H)
10,000,000& 128 120,000
DASt=MER(ESHES0E)
130,000& 62 780
PEIQRS(ESHSs0Ee 5H4)
1,500,000& 122 18,000
HEIFANERAE > 417,080 317,120 99,960
201 2et24d] 48,540 27,080 21,460
02 2324l 48,540 27,080 21,460
O3 A& ZHl s Xt 48,540
DM S, 28017 SAE=
3,000,000& =14 3,000
DHa=Z HA(0HE0l =033 2=20) 45,540
ot 2= 11,0003 *25= 153 «6 8 24,750
OHA 2= 11,0003 »45E «73| x6 & 20,790
206 M= Hl 3,540 3,040 500
01 M2 4l 3,540 3,040 500
O&Il, sS4, A2 JIH MHEHl S
2,000,000 » 14l 2,000
Ootts & g2+ A2 MEH
11,0002 = 1404 1,540
401 Al HIZ 2018 365,000 287,000 78,000
01 A& HI 365,000 287,000 78,000
OMEId Nd2 FNES(HAE,J1H,8I] S
) 20,000,000 =14 20,000
O=Xzel 104,000
> Al=ZS 300& *70,000m" *23] 42,000
> &CI 2D 300& x70,000m x23] 42,000
DaSFH(SSMS 2 5HA)
20,000,000 =14l 20,000
OMSAEALA 28 L MAHAIAE WX
30,000,000 =14l 30,000
OMSAEAS A ZHAEHAAIL KA
30,000,000 =14l 30,000
O2s4d ==s01& 181,000




A MESAEAMED
M HSAE 292
@2 dzsd )
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
> s AR 20,000,000 14! 20,000
>2gae 89 161,000, 000& * 1A 161,000
AROF BUL SAHZ(HOE) AY BA 300,000 300,000
401 Al HIL 20| 300,000 300,000
1 A& I 300,000 300,000
OYS0t HUAZTHZ(HHAE) HE
300,000,000& * 14! 300,000
SO SHE 22 428,606 36,031
dEHEE 22 171,968 N21,346
201 2yt 2 Y| 170,208 ~1,936
01 AR 22l ] 10,720 N412
O1 etx=2H| 8,160
>3lEIIE HEH 700& *1,0000H x23] 1,400
D> EAIE X 360, 000& 14! 360
DAMEIEZH EFY IHUE =2
15,000, 000& *3/100% 12& 5,400
DAE0IZ2CHH EE2 MZE
1,000, 000& * 14! 1,000
O4 Il =4| 600
DIl AH A 2R 100, 000& *302! *x23| 600
O5 =&l 960
>of2t 2 5 22X
8,000 x121x103| x12& 960
O6 Xtz 1,000
>AELD|, HO &xs 1,000, 000& * 1Al 1,000
02 3524t 159,488 AN 1,524
O1 2222 ¥ HMA 69,284
DAANESHAZ 100,000& =128 1,200
DRAESIHYAIZE S 30,000 x12& 360
DEIR=S 5,000,000& x12& 60,000
DEAR HESY NEHS 37,000 x12& 444
>a -t AIES 500,000& x12& 6,000
DIOIAHHAABSE S 20,000& *13] 20
>Xot=0lE22Y 2 100,000& *12& 1,200
D> St=2ABOrM S 3 H| (ABoHA 2te| XtH)
60,000& *13] 60
02 dZH| 88,704
DSOS HAH e 2 24 (T AIJEA)
840& *110m x3A| 2 *320L 88,704
O3 A& HEH| ®XHI 1,500
DAIRE MAD|D] KX 1,500, 000& * 1Al 1,500
206 M = dl 150 150




A MEAEAML L
g HMSAME 2822

& sUMSUE 2 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 M= 4l 150 0 150
O&E7I 50,000& *3CH 150
405 TtabF S| 1,610 21,170 A 19,560
01 AL ESH SHI 1,610 21,170 A 19,560
OozZgH 550,000& »2H 1,100
ougasEII 170,000 »3CH 510
HEAERIE = 256,638 199,261 57,377
201 Let24E] 163,238 162,461 7
01 AFR2t2lH] 22,995 21,995 1,000
O1 Ler==&H| 22,995
Dot M 2 HA 223 500,0003 123 6,000
DY 232 AF 100,000& 2Kl E 200
DMl BH S=(1004 )
3,300 «80& 128 3,168
DM BH S=(50L )
1,690 x40& <123 812
DEFIMNMA MBAE EIZEME==2
270,000& =13 270
DEYe HIFA =2 300,000& =13l 300
Dagtddl M EFHZ WA= 300,000 128 3,600
DRIIE FIILH HIIBAN L4R(=FLY
250K, 2EA J| 115kW) 1,000,000& *13l 1,000
DXJHE &I ord e (=ML
P50KN, 2 F | 115KH) 404,25091 122 4,851
>S5 HIIYA 48 150,0008 «18] 150
>S5 B HRB(SHE 1)
,644,000& * 14 2,644
02 =224l 140,243 140, 466 A 223
02 A=l 139
DU ZEII(115KW)-F
1,390& %1004 *13 139
O3 A& & Hl s Xl bl 140,104
PES Y EUE FAE+ 1,000,000 14 1,000
DM HA 11,000& »142E »23| 3,124
DYALS 440,000& x128 5,280
>Ede] M2 5,000,000& =13l 5,000
DA E ZSHAE(0UI]) SR+
4,500,000& 12 4,500
Dol dHl 24(H2 2 58)
3,000,000& 14 3,000
D& e HA(HM) 2,000,000 14 2,000
Date RX2el 200,000 = 16CH 3,200
DL BESSMUEH EZE2F
1,000,000& =14l 1,000




A MEAEAML L
g HMSAME 2822

SHol: SOIHSUE 2 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
CEEeoBeALE SN2
4,000,000 *14] 4,000
DEIADIR Y £HIP RAE>
150,000& 20 3,000
DEHIANAd I8 5,000,000& = 1CH 5,000
DAYAIE RAE> 3,000,000& * 14 3,000
DESEHAD SXNES 1,000, 000& *2CH 2,000
DL 2LEANE KBS 2,000,000& * 14 2,000
PsOEIMEHdH HAEY
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